[image: image1.jpg]Problem 5.17 5.17 For the beam and loading shown, determine the maximum normal stress due
e o to bending on a transverse section at C.
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[image: image2.jpg]Problem 5.21 5.21 and 5.22 Draw the shear and bending-moment diagrams for the beam and
loading shown and determine the maximum normal stress due to bending.
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[image: image3.jpg]Problem 5.65 5.65 and 5.66 For the beam and loading shown, design the cross section of the
’ beam, knowing that the grade of timber used has an allowable normal stress of 12
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[image: image4.jpg]Problem 5.85 5.85 Determine the allowable value of P for the loading shown, knowing that the

allowable normal stress is + 8ksi in tension and - 18 ksi in compression.
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